' é @ @%@ =] Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagdo:
10, 441 x 1000 = 1,007 x 100 =
4,453 x 10 = 1,059 x 10 =
10,35 x 100 = 8,176 x 1000 =
5,473 x 100 = 3,791 x 1000 =
4,972 x 1000 = 3,994 x 10 =
2,673 x 100 = 5,536 x 100 =
1,424 x 10 = 1,091 x 100 =
2,941 x 10 = 6,316 x 1000 =
10, 643 x 1000 = 10,774 x 100 =
5,058 x 100 = 2,845 x 100 =
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' @ %%@ Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
10,441 x 1000 = 10441 1,007 x 100 = 100.7
4,453 x 10 =44.53 1,059 x 10 = 10.59
10,35 x 100 = 1035 8,176 x 1000 = 8176
5,473 x 100 = 547.3 3,791 x 1000 = 3791
4,972 x 1000 = 4972 3,994 x 10 = 39.94
2,673 x 100 = 267.3 5,536 x 100 = 553.6
1,424 x 10 = 14.24 1,091 x 100 = 109.1
2,941 x 10 =29.41 6,316 x 1000 = 6316
10, 643 x 1000 = 10643 10,774 x 100 = 1077.4
5,058 x 100 = 505.8 2,845 x 100 = 284.5
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